
Instructions 

All Questions in Section I is compulsory 
Attempt any 12 out of the 15 questions in Section II 
Attempt any 8 out of the 15 questions in Section III 

Section I  

1. Indian society is __________ in nature. 

(a) Tribal 

(b) Pluralistic 

(c) Rural 

(d) Urban 

Answer: Marks: 1 
 

2. Deficiency of which Vitamin may cause blindness? 

(a) A 

(b) B 

(c) C 

(d) D 

 Answer: Marks: 1 

 

3.  Which is the largest religious community of India? 

(a) Hindus   

(b) Muslims 

(c) Christians 

(d) Sikhs 

Answer: Marks: 1 

 

 

4 A rural area which is about to become an urban one, is governed by the: 

(a) Nagar Panchayat 

(b) Panchayati Raj 

(c) Municipal Corporation 

(d) Zilla Parishad 

Answer: Marks: 1 
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Section II 

 

1 Sikhism is a ____________ religion 

(a) formed 

(b) monotheistic 

(c) small 

(d) Demography 

Answer: Marks : 2 

 

2 In estate system, who performed religious duties? 

(a) aristocrats 

(b) clergy 

(c) serfs 

(d) merchants 

Answer: Marks : 2 

 

3 The preamble says 'The Spirit of Brotherhood is essential'. It comes under 

(a) Fraternity 

(b) Equality 

(c) Sovereign 

(d) Secular 

Answer: Marks : 2 
 

4 The administrative head of the Zilla parishad is called the: 

(a) Sarpanch 

(b) Chief Executive Officer 

(c) President 

(d) Gram Sevak  

Answer: Marks : 2 
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Section III  

1 __________in Nilgiri hills of Tamil N.adu 

(a) Khasis 

(b) Limbu 

(c) Thodas 

(d) Santhals 

Answer: Marks : 2 

 

2 Which of the following is the first state in India to established Panchayati Raj system? 

(a) Maharashtra 

(b) Gujarat 

(c) Rajasthan 

(d) Karnataka 

Answer: Marks : 2 
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